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1. Other than having many fwtuf@‘ﬁ in common, siate the other characteristics of a species
O (1 mark)
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2. Whymm&hutsmfm&dtoaspnmmpmdmsmmmﬂym? {2 marks)
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3. Aw@?&bimdmu&ﬂmqmabh@dmm Name the blood groups of the
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(@\ $§5 Stats bwe functions of muscles found in the alimentary canal of mammals (2 marks)
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Wazne the orgenelle iz whick protein synihests takes place in a cell (1 mark)

8 {a) The type of circulstory system found in members of the ciass insecta is {} mark)
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oy MHame the bicod vessel that transports blood from
@) Small intestives to the liver (1 mark)

{{i} Lungs to the heart {1 mark}

$. Name three types of chromosomal mutaticns {3 marks})
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SECTION 8 (40 i'@%‘kh’)

X
Answer all the guestions i thix section i .'f@&nr{m pronngdedd,

i The diagram below represents @ mm-;i&ﬁﬁan nepliron.
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{b)
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Name the
Y structure fabeijed ¥ i} mark)
(i) portion of the nephrow: belween pbint X and Y. {1 mark)

Name the process thal takes place af pelist €. {! mark)

Nume one substance present at noini B but absent at point 8 in a healthy mammal.
a
it {1 mark)

The appearance of the substance you have named in (¢} abpve is 2 symptoin ofa
certain disease caused by a hormone deficiency. Nue the:
' (1 mark)

{i) discase
(1) Lormone. {1 mark)
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)
{e;  State the strociural ::mﬁiﬁsmi@i'mp!unﬂs found in desert manunals. {2 marks)
W
Q>
................................. O et oo
il The graph below shnv@ki!ca)c eifect of subistrate concentration vn the rate of enzyme
reaction. : ‘b'Q
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\ - . - aifa
{@\\ Substrate cencentration
< w
O R
% \\' {aj  Acvow for the shape of the graph beiween:
A\ .
i) A andd B, {3 nrarks}
{ii} Band C {2 markss
b} How van the rate of reaclion be increased afler point B? {1 mark}
() Siate twe other fuctors that alTect the rate of enzyine reaciion. {2 marks)
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13 The diagrams below represents the nitrogen cyclgﬁ

| it rogeng.
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itregen
in plants
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\Q’G O(ghr: teria \\
LSRN Ammonia
\Qjﬁ} Stale the process labelled - {2 marks)
(@\\ A.
{ o
A
o,
(b} Mame ihe compeound represenied by B, {! mark)
L R A S i T e e e TP
{e) Name the group of organisine fabelled C. {1 mark}
{d) {1} Name the group ci plants which promoie process A. {i mark)
(ii} State the pari of the plant where process A takes place. (! mark}
{e) How would excess pesticides in the soil interfere with process A7 {Z marks}

...............................................................................................................
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i4 Tallness mpeaplmisisducloa dnmina\iﬁ’gm:c. )
Two tall pea plants were crossed andgBeir Fi generation were in the ratio of 3 tall : 1 short,

Using ictier T o mpr@:mn: the gqﬁ\ for tallness and { for shoriness, give the;

{a) () genolypes o%.@ parents ) {Z marks)
(i) %s;gélm of the pareits (2 murks)
.............. ey
(i O@ennlypic ralio of the ¥1 generation. (3 marks)
RS
Qg’& .................................................................................................
é&; @3\ What is meant by the term iestcross in genelic studics? {1 mark}
S ‘
Q.""..-.....-.--......-.-..,“”.-..“-“...-. T

¢ o
¢ o ; L s v
s KR~ The disgrams holow represent aset up to investigate the conditions necessary for soed

< : germinaiion.
(@\ §

\\
y* A 5] L
O\ R r )
e .
& % % %
Unsoahed
Sooked --Soaked
seeds M seeds ;‘j?-: 3 sseds
: £ A2
A ! g
- Tt ols ¢ 1 Dry
Efri:gn woo! || cotton wool (:ﬂ ¢obton wool
N 3
AT room At §eoC At room
temperciure tempero bura

Tiie sel up was iefl for 7 days.

(a} What conditions were being investipated in ihe experimeni? {2 marks)
(b}  State three reasons for soaking sceds in setups A and B, (3 marksj
14

Connect with Joshua Arim in facebook
For Tips on passing KCSE register @http://ww.joshuaarim.com



{c}

o
Q\
What were the expected resuils aiter sex{e&dnys? {3 meris)
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SECTION C (40 marks)

Ansier @@'wm.-; 18 (compulsory} and either guesiion 17 or 18 ins the spaces provided afier
%@H!@%‘\ 18,

minal

\QJ

feeds X and Y over a period of six months. Twenly 5 mouths cid castrated goats

AN
16 ;:@\:xpmmcm was carrisd out io nwesilgah: the nutritional vatue of two dry powdar
1

{@ \ = were used. The goats were divided into iwo equal groups A& snd B,
< \ e aninlals in groep A were fed on feed X throughout the sxperiment while thoss of
QO \,Q group B were fed on feed Y.
\¢ The feeds were supplemented with dry hay and water. The average body weight of tach .
group of goats and the weight of the diy powder Teeds were determined and recorded
each month. The facces produced by esch group was dried anid weighed and the
average dry faecal outpul per month was also resorded. The resulls are as shown below:

—

GROUP A E ____QRGUPB “1
i‘ Months since Average | Average | Average e Average r\l"{.‘.':':LE i Aversge |
| commencement | tota weight of | monthly 5 totai L waight of | montaly !
[ ol the weight of | iotal feed | dry faecal | weighi of | oini feed 5 dry faecal |
| experiment poais ouiput ! gogiz _5 i ﬂmg.ui i
i (kg) (kp) (ki) | Avgy k) 1 G
i 0 204 267 _ 1105 1 | 208 354 “? i5s |
i {225 1. 275 167 194 ¢ 243 1§77
% 2 24'5 258 10:3 A5 352 172 |
3 263 185 B8 i85 36t TS
4 280 106 72 Fi-i i 369 o
3 294 163 60 63 | 358 | 63 |
6 295 6 | 56 i56 {355 1 166 |
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9
(y (i) Wit is the relationship betweghhe maount of feed and the theeal output?
(1 mark)

B A A R R R T R .b ......................... W R A e e e b

R ]

..................... e g
Gy Work out the@verage increase in weight for the animals in group A during:
the fipst Q@ nonthis (2 1narks)

KUON ) Account fur the average increase in weight for the goats i group A during:

\QJ§' the Gesi Tour moutls, {1 mnrk)

Q’\' Vensidwea BE rasas q
the fast two montis (2 marks)
L
fivy Which of the two feeds is imore nutritious? {1 rark)
Liive reasons fis your answer narks}
thy  Stale four uses of digested food in the bodies of animals, {4 marks)
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{c) State four uses of water in the bodies n{?ﬁlinml.ﬁ. {4 marks)

17 {3} State the fulﬁﬂtms of the fellowing parts of the mammalian ear;

{i} Ify\n ¢ membrane, {3 marks)
. i, B, )
{1:}(2~ wusiachian lube. {1 mark)
&jS} \ Lar ossicles. {2 marks)
{b.{_ L%p(%l‘lbc how semicreular canals perform their funclions. {14 marks)
EE @%ﬁ 6 Desceribe the process of {ertilization in & Mowering plaat. {15 marks})
h\? State the changes thal take place in a flower afer fertilization, {5 marks}
\
§\\ ............................................................................................................
QO& \Q‘ ...........................................................................................................
\
AN
L]
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